4 — B§ — 1049 —8
R mF R L= T H ORUTRER AR R

SR 44 8 H 26 H

T FRERBE X R 2
KEFRTIE v R L—HY OGBS B8 H B O REfAR Rix
WDEEY ThHD,
1. E=XU 7R — NI D HEHRR R E RS R
(1) AR — K XN X
(2) =z —R TSI AL =2 — A
(3) FAE H IF oF 4 4 8 H 26 H 09:53~10:34
(4) FAAHE R Z=[H] 3~ 5 nGy/h
wAK 11 ~ 14 cps
2. FB=HYUTRA MK DEEFRORIER S
T E s S
(1) FAAHAR 5 Sf 44 8 H 25 H 15:00 i =
= Sf 44 8 H 26 H 15:00
@)/ (175) J/ Zef] 23 ~ 28 nGy/h
K g8 ~ 11 cps
neE) R 22 16 ~ 20 nGy/h

WK 18 ~ 22 cps
1# 2 i (35) J&) z2ff] 19 ~ 24  nGy/h
K g8 ~ 12 cps

7 | KM (475) |/ ZEf 28 ~ 33  nGy/h
7 K g8 ~ 11 cps
f | - (55 R/ |7em® 22 ~ 26 nGy/h
* WAkx 9~ 12 cps
/NIET (655) J8) Zefl] 34 ~ 39 nGy/h
ARHT(755) &) 72 35~ 40 nGy/h
WOt R (875) &) 72l 19 ~ 24  nGy/h
Bk (95 = Zef] 25 ~ 32 nGy/h
B 105) )5 Zef 19 ~ 23 nGy/h
3. K & =
4. g =

HIERERIL, DM4ESH 18 H (R ICE M L /- ANERTFAEORIEME & F— 1~V Th b,

X NELHGE) R, E=F U I RANTLEORED, EMiFrHNE=21 7
WA N, WKITZY—_A A=F 2D THIE LR R TH D,

ATRER RSB DG « BT IR TR R R ER BT R =
THaG 1 03-5114-2126 RIE-H ] - B 10WF~ 120, 13F~ 180




